e

ns 15 deflned as [IPUEE 08]
:(a);lo 95 of Kr-clock of 1650763 73 oscillations

'(b) 10 5 of Kr-clock of 652189.63 oscillations

E(C) 10 5 of Cs-clock of 1650763.73 oscillations
iiid) 10% of Cs-clock of 9192631770 oscillations

2. If the unit of force is 1 kilonewton, the length is
1 km and time 100 s, what will be the uml of mass ?

(a) 1,000 kg ) 1kg |
'~ (¢) 10,000 kg (d) 100 kg
W3 Out of the following four dimensional quantities,
| - which one qualifies to be called a dlmensmnal constant ?

(@) Acceleration due to gramty

[TPUEE 08]

(b) Surface tensmn of water

(d) The ve10c1ty of hght mvacuum
4. The d1men510ns of torque are It

() [MI?TZI

[IPUEE‘. 06]

,ié[DCE 00]

P]anck’s constant |
veloc:lty of hght are

——
T = temperature and n,4,b, R are constants The
dimensions of a will be
(a) [MLT™'] (b) [MLT ] _
(B[] (d) [L°] (PUEE g
12. The force F is given in terms of time ¢ atid

displacement x by the equation F = Acos Bx + Csin py.
The dimensional formula of D/ Bis

(a) [M°LO1] (b) [M°LOT ™y

() (ML) () [M°LT ] [IPUEE 11

13. In the relation, y= rsin(wt+kx), the
dimensional formula for kx or of is same as

@7rlo byrly

() ot/r (d) yr/ ot [DCE (3]

14. Which of the following quantities can be written
in SI units in kgm?A s> ?
(a) Resistance (b) Inductance
- (c) Capacitance (d) Magnetic flux  [DCE 07
15. The time period T of a small drop of liquid (due
to surface tension) depends on density p, radius r and

i surface tension 5. The relation is

il | IR
e "".:(a)To{ j} (b)) TocprS
(c)Tocg (d)'rocE

16. Wh1ch one of the following pairs of quantities

has the 'same dimension ?

' (a) force and work done
- ;;(b) mornentum and impulse

it _'(c) Ppressure and force

il fhl (d) surface tensmn and stress. [DCE 09]
:;..1? IfL 2331cm B=21cm, then L+ B=?
(@a431em () 443em
: .'(c) 44 emff (d) 4 cm (DCE 03]

' _18 If error in radius is 3%, what is error in volume

l of 5phere AL

(@) 3% ) 27% (c)9%  (d) 6%  [DCEC0]

19 In :m experiment, on the measurement of &

I f.:éusmg a mmple pendulum the time period Was

-;i;measured with an accuracy of 0.2% while the length
'.;-was measured with ‘an accuracy of 0.5%. The
i percenta},e accuracy in the value of g thus obtained 18

(ﬂ)07“/o '(b)Ul% (c)025% (d) 0.9% chWI |
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